K0637_A
2 H|QI|A A8 QIEA SRX] EIRY A

&5 89/HMF ololx|

A3 = E Aot FEEX S

IOI Ltet K| gfotok 5t BRolE UHA EHME AUR ©
= HPE 180° %EI‘F'_:' = ol Hel /RI= Sot3.
H2 MA &2 M2 7L s Ix[ol 2 + UAH HEH.

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/3



°
A A AEI | = =
2|l A AE OlelA Z81X] EIR] A
=M
= —l
)=
; S
-‘.I ]
o
|
n L
Y .
D-U,UZ
-0,04
ll——
D1
o N\ Jr
2. -4 - - }
hﬂ
o
ES%
FEHS Bl D D1 D2 L L1 L3 B BT H Fx3a0° AJZF EbY
Etd =2
F1 2 N F2 2 N
K0637.1040410 A 4 M10 10 38 25 20 9 3 6 1 8 14
K0637.1040510 A 5 M10 10 38 25 20 9 3 6 1,3 8 14
K0637.1040610 A 6 M10 10 38 25 20 9 3 6 1,8 8 14
K0637.10404101 A 4 M10x1 10 38 25 20 9 3 6 1 8 14
K0637.10405101 A 5 M10x1 10 38 25 20 9 3 6 1,3 8 14
K0637.10406101 A 6 M10x1 10 38 25 20 9 3 6 1,8 8 14
K0637.1040512 A 5 M12 12 468 30 25 10,8 36 8 1,3 8 15
K0637.1040612 A 6 M12 12 468 30 25 108 36 8 1,8 8 15
K0637.1040812 A 8 M12 12 468 30 25 108 36 8 23 8 15
K0637.10405121 A 5 M12x1,5 12 468 30 25 108 3.6 8 1,3 8 15
K0637.10406121 A 6 M12x1,5 12 46,8 30 25 108 3,6 8 1,8 8 15
K0637.10408121 A 8 M12x1,5 12 46,8 30 25 108 36 8 23 8 15
K0637.1040616 A 6 M16 16 604 40 32 144 48 10 1,8 15 35
K0637.1040816 A 8 M16 16 60,4 40 32 144 48 10 23 15 35
K0637.1041016 A 10 M16 16 60,4 40 32 144 48 10 2,8 15 35
K0637.10406161 A 6 M16x1,5 16 604 40 32 144 48 10 1,8 15 35
K0637.10408161 A 8 M16x1,5 16 60,4 40 32 144 48 10 23 15 35
K0637.10410161 A 10 Miex1,5 16 604 40 32 144 48 10 2,8 15 35
K0637.1040820 A 8 M20 20 70 50 35 18 6 12 2,3 20 60

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
A H|QIEA AR OlHA ZRIX] EFR] A
E= %
FEHS Elel D D1 D2 L L1 L3 B BT H F x 30° INES EtA
EbAM =
F1 2k N F2 2k N
K0637.1041020 A 10 M20 20 70 50 35 18 6 12 2,8 20 60
K0637.1041220 A 12 M20 20 70 50 35 18 6 12 3 20 60
K0637.10408201 A 8 M20x1,5 20 70 50 35 18 6 12 2,3 20 60
K0637.10410201 A 10 M20x1,5 20 70 50 35 18 6 12 2,8 20 60
K0637.10412201 A 12 M20x1,5 20 70 50 35 18 6 12 3 20 60

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

3/3



